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Instrucitons: (1) Check the question paper for fairness of printing. If there is any
lack of fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw
the diagrams.

ifley — 1/ SECTION - |

oy () oewearss allarrssens @ allsnLweldsseib.
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CFird g 6T(HSHELD.
Note: (i)  Answer all the questions.
(i) Choose the most suitable answer from the given four
alternatives and write the option code and the corresponding
answer.
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Which one of the following is not the characteristic feature of cyanobacteria?
(a) they are multicellular

(b) they form colonies

(c) they form blooms in polluted water bodies

(d) they can fix atmospheric nitrogen
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Which one of the following is considered important in the development of seed
habit?

(a) Heterospory

(b) Haplontic life cycle

(c) Free living gametophyte

(d) Dependent sporophyte
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When the storage roots occur in clusters from the base of the stem, they are

called
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(a) Fasiculated roots (b) Nodulated roots
(c) Annunated roots (d) Beaded roots
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Which of the following is true?

(a) Umbel is a racemose inflorescence where all the stalked flower aggregate
on the flat receptacle.

(b) Raceme is a racemose inflorescence having main axis shortened and
flowers borne acropetally.

(c) Spadix is racemose inflorescence having pendulous spike with main aixs
much flattened.

(d) Spike is a racemose inflorescence having sessile flowers.
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Statement

(1) Taxonomy governs the practices of the classification and naming

(ii) Systematics governs the practices of classification, naming and
preservation

(a) Both (i) and (ii) are correct

(b) (i) is correct and (ii) is wrong

(c) (i) is wrong and (ii) is correct

(d) Both (i) and (ii) are wrong
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Regarding flip-flop movement, which one of the following statement is correct?

(a) Proteins can flip-flop, lipids cannot

(b) Neither lipids nor proteins can flip-flop

(c) Both lipids and proteins can flip-flop

(d)  Lipdis can rarely flip-flop, proteins cannt

g rivuplemeouilsv 8C  Gamewr. DNA, 'S’ flewevd @l L@ stdsemesr DNA-
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(=) 4C (=) 8C

(@) 64C (/) 16C

If the initial amount of DNA is 8C then after S phase the amount of DNA would

be
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(a) 4C (b) 8C

(c)64 C (d) 16C
LNssTauHeuTOINMIST sTewar @)TL DL & FTésenrL.
(o) #5C8rmen (<) NGumev
(@) srew () (1r&GLmren
Which of the following is disaccharide

(a) Sucrose (b) Ribose

(c) Starch (e) Fructose

fley — 11/ SECTION - II
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eTewauCuienid  Brer@ allarmEsendsd 30 uTTSmsHEHdH@G  LOSTLOEY
allewL_wefldsea.

Answer any four of the following not exceeding 30 words.

9. Complete the Multiplication cycle of Phage

Adsorption

v

v

Synthesis

!
v

Release
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Monosaccharides are called ‘reducing sugars’ but disaccharides are not.
Why?.
SHTaUTBISaTleT sTUILIGSH6T LilsiTouhLorml 2 (HLoTHMLD WL I 6T6TesT
(=) @pliupgAst GGl
(=) SCasaflwrailsr Gmusesmifled @
Which common plant part has been transformed into the following different
modifications.
(a) Pitcher of Nepenthes
(b) Phyllode of Acacia
g5 Gprd wpmid  Gwph Cprd B Clupin  ClFspHAuiler G
Blewevgsemeard &mILiL(hHae
Name the two phases of cell cycle which lasts for longest and shortest span of
hours.
oot GLra e Nl Qaed Feuallsst AMLILILT LISHTL|SeST 6T(1pd)5%.
Write a specific feature about the membrane of mitochondria.
WEBBSTSI LWSTURD G)Temid Bevey aerifensit wrHmrT QUTHL s6T
Brewrig et GlLILITHDETS 5 ([H%.
Give two examples of secondary metabolites used as drugs.
ifley — 1l / SECTION - Il

3x3 =9
sooauCuisnit  apsTml  efleTThsEnb@ 45 auTihmssnens@ ST
aflewL_weflsseayd. ellerr stewr. 18 —h@ sewngliurs aflenL_wefldEseayLb.
Answer any three of the following not exceeding 45 words. Question No. 18
is compulsory.
“‘UDewrGuiresdsoui’_seflett &moymsaidhe B eudwwrearg” - @& hHewm

plwumwiu®ss1%
‘Bryophytes need water for fertilization’ — Justify the statement.
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Write any three distinguishing features between accessory and reproductive

organs of flowers.
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Refer the diagram of septate mycelium given. With that

reference draw coenocytic mycelium.
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GuGsvwysiTem euenTLiLIL LD sTHemerTd: &MIbaIng? @)g) steueurmy @) ssriiviflesrmio
CFweoLIT ewL GHeafleursHs 2 saslingi.
What does the above figure refers to? How does this help to elucidate

mechanism of phylogeny.
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Mark the A,B,C parts for given diagram
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MEMERAME STRUCTURE: FLUID-PADSAIC MODEL
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Answer all the following not exceeding 75 words.
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Compare the three classes of algae on the basis of the following parameters
(a) Major pigment
(b) Stored food
(c) Number of flagella and their positon of insertion
(or)

Explain the regions of positively geotropic part of the plant.
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Identify the family of the plant Pisum Sativum. Write the diagnostic features
based on
(a) Calyx (b) Corolla (c) Androecium (d) Gynoecium  (e) Fruit

(or)
At the end of a cell division, a cell produces four cells. Identify the type of cell

division and mention its significance in evolution.



